Unit 4

? Unit 4.1 Notes: Simplifying Rational Expressions
Objective: To simplify rational expressions and state excluded values in the domain
Which one is cc imolified? .
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Up to this point with a domain (_all ?oss{\plb xS ) of all real numbers. Rational Dﬁ;‘f+

functions are the first time we will deal with a domain other than this.
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As with all other expressions we have dealt with, you will be required to simply rational
expressions.
The big idea to simplifying rational expressions is to: Fo.ai-or I% Cancel
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2. Example: Simplify the following rational expressions. State any values that are not included
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There are 4 major thlngs to consider when trying 'to tackle a word problem.
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3. Example: You are choosing between two wastebaskets. One is c lindrical with a height
of (2a + 8) and a radius of a. The other oneis a fectangular prism with a square base area of
4a® and a height of h. If both wastebaskets have thé%ame vglumg%,hat is the height of the

rectangular wastebasket? Give your height in terms of h. ) N \(2at3)
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4, A square has snd‘e length 6x + 2. A rectangle with width 3x 4+ 1 has the same area as
the square. What is the length of the rectangle?

5. : han twice the width. Thgzyolume is

2w> + 7w? + 5w What is a simplified expression for the height of the problem?
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